=4 Replaces Toro Groundsmaster 7200

ﬁn Parts
Zero-Turn Mower with 62in Deck - Model 30362

" Seat & Controls

70
v
72 % 74
§ |
G2
73
%'Q ‘<"

64 76

é'r;} . N\ 2

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




=4 Replaces Toro Groundsmaster 7200

Hﬁn Parts
Zero-Turn Mower with 62in Deck - Model 30362
" Seat & Controls

Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity

Electrical, Gauges & Controls

104-2541, .
60 R104-2541 88-9830 Switch - Key 6 Lead 5/8 Mt. 1
218-412,
32-8380,
33-2010, .
61 R343060 62-7770, Ignition - Key Set/2 1
63-8360,
94-2618
62 R100-8071 100-8071 Lamp - Warning 1
63 R100-8070 100-8070 Lamp - Warning 1
64 R93-9999 93-9999 Switch - Pto 1
65 R1-513374 1-513374 Hour Meter 1
66 R150229 82-2190 Switch - Operator Presence 1
Other Parts Available
1-603175,
120-9752,
70 R233-42 233-42, Knob 1
233-47
71 R110-5547 110-5547 Control Lever Assy 1
72 R32105-13 32105-13 Screw - Hx Was HD 10-32 x 3/4 5
32127-10,
73 R3296-2 3296-2, Nut - #10 Lock 5
9157404
3234-13,
74 R3234-13 960151pP Bolt - Flanged Hex 1/4-20 5
249-48,
75 R74-5950 245950 Latch - Swell 2

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




=4 Replaces Toro Groundsmaster 7200

ﬂﬁn Parts
Zero-Turn Mower with 62in Deck - Model 30362
" Seat & Controls

Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity

3212-3,
76 R3212-4 3212-4, Bolt - Hex HD 7/16-20 x 1 GR5 2
3212-5

100-4928,
106-7848,
77 R150848 110-0413, Belt-Seat 1
110-9720,
95-8910

78 R99-7667 99-7667 Washer - Flat 5/8 2

104-8300,
79 R104-8300 104-8300, Locknut - 5/16-18 Flanged Y/Zinc 8
119-4041

01-651-0160,

80 R2412-133 419133

Clamp 2

3230-23,

81 R3230-23 Mar-61

Bolt - 5/16-18x3/4 - Carriage 2

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




